

***L*-VALUED FUZZY ROUGH SETS**

F. LI AND Y. YUE

ABSTRACT. In this paper, we take a GL-quantale as the truth value table to study a new rough set model—*L*-valued fuzzy rough sets. The three key components of this model are: an *L*-fuzzy set A as the universal set, an *L*-valued relation of A and an *L*-fuzzy set of A (a fuzzy subset of fuzzy sets). Then *L*-valued fuzzy rough sets are completely characterized via both constructive and axiomatic approaches.

1. Introduction

The concept of rough sets was originally proposed by Pawlak [23, 24] as a formal tool for modelling and processing incomplete information in information systems [2, 15, 17]. Fuzzy set theory [37], on the other hand, is a wide variety of techniques for analyzing imprecise data. It seems therefore natural to combine methods developed within both theories in order to construct hybrid structures capable to deal with both aspects of incompleteness. Such structures, called fuzzy rough sets and rough fuzzy sets, have been proposed in the literature [1, 3, 4, 5, 13, 14, 16, 19, 22, 30, 35, 36, 38].

Fuzzy rough sets were originally proposed by Dubois and Prade in [4, 5]. Combined with rough sets, the three key components of this model are: a universal set X (a crisp set), a fuzzy equivalence relation of X and a fuzzy set of X . Morsi and Yakout [20] were among the first to study fuzzy rough sets based on a left-continuous t-norm and its residual implication. In [26], Radzikowska and Kerre defined a broad family of (I, T) -fuzzy rough sets which are determined by an arbitrary implication I and a t-norm T . Wu et al [32, 33] discussed the axiomatic approach of (S, T) -fuzzy rough sets. However, these fuzzy rough sets are based on the unit interval $[0,1]$. As Goguen [7] pointed out that sometimes it may be impossible to use the linearly ordered set $[0,1]$ to represent degrees of membership and the concept of *L*-fuzzy rough sets was then introduced. Many authors have explored and developed *L*-fuzzy rough sets. In [27], Radzikowska and Kerre proposed fuzzy rough sets based on residuated lattices which were called *L*-fuzzy rough sets. The three key components of *L*-fuzzy rough sets are: a universal set X , an *L*-fuzzy equivalence relation of X and an *L*-fuzzy set of X , where L is a residuated lattice. As a further discussion on this model, She and Wang [29] studied the axiomatic approach of *L*-fuzzy rough sets. Topological structure corresponding to *L*-fuzzy

Received: May 2017; Revised: October 2017; Accepted: February 2018

Key words and phrases: GL-quantale, *L*-valued power set, *L*-valued relation, *L*-valued fuzzy rough set.

rough approximation operators with emphasis to its ditopological was studied in [6]. Ma and Hu [18] investigated topological structures of L -fuzzy rough sets and the relationship between upper (resp. lower) sets and lower (resp. upper) L -fuzzy rough approximation operators. Wu et al. [34] discussed the properties of L -fuzzy rough sets based on complete residuated lattices. Wang and Hu [31] studied fuzzy rough sets based on generalized residuated lattices.

To summarize, the core element of fuzzy rough sets is the fuzzy type of binary relations. In order to study the logical and categorical basis of fuzzy sets, Höhle [9, 10] proposed L -valued set as follows: Let $P : X \times X \rightarrow L$, if it satisfies the following conditions: $\forall x, y, z \in X$,

- (1) $P(x, y) \leq P(x, x) \wedge P(y, y)$;
- (2) $P(x, y) = P(y, x)$;
- (3) $P(x, y) * (P(y, y) \rightarrow P(y, z)) \leq P(x, z)$.

Then the pair (X, P) is called an L -valued set. Obviously, P is an L -fuzzy equivalence relation if $P(x, x) = 1$ ($\forall x \in X$). Moreover, $[0, +\infty]^{op}$ -valued sets (X, P) is a partial metric space in sense of [21] for $L = [0, +\infty]$ under the inverse order with " + " as the product, which has important applications in theoretical computer science. In 2012, Pu and Zhang [25] defined L -valued relation of L -fuzzy sets based on the theory of quantaloid-enriched category. Moreover, L -fuzzy equivalence relation is a special case of L -valued equivalence relation, and L -valued sets are just L -fuzzy sets endowed with an L -valued equivalence relation. Hence, we can establish the most general model of fuzzy rough sets based on L -valued relation. It needs to be emphasized that mentioned above model of fuzzy rough sets is based on the three key components: a universal set A (an L -set), an L -valued equivalence relation on A and an fuzzy subset of A . It is also valuable to note that Šostak introduced the general concept of an M -approximate system in [28]. As different from the present work, M -approximate systems can be defined without referencing to the universal set and without direct using of an L -relation but just on the basis of an integral commutative cl-monoid. Moreover, Han et al in [8] provided an example to indicate that an M -approximate system cannot be necessary obtained by means of an L -relation. These results provide a new approach to study fuzzy rough set theory.

The aim of the present paper is to propose a new rough set model— L -valued fuzzy rough sets, and to investigate it from both constructive and axiomatic approaches, where L is a GL-quantale. The structure of this paper is organized as follows: In Section 2, we review some basic concepts and results which will be used throughout the paper. In Section 3, the concept of L -valued fuzzy rough approximation operators is introduced and the basic properties are discussed. Furthermore, we discuss connections between some special L -valued relations and the L -valued rough approximation operators. In Section 4, L -valued fuzzy approximation operators are defined in an axiomatic way, and it is established that there is a one-to-one correspondence between the L -valued fuzzy rough approximation operators and L -valued fuzzy relations.

2. Preliminaries

In this section, we recall some basic notions of GL-quantales, L -valued relations and the L -valued power set of an L -set.

Definition 2.1. [9, 12] A *commutative quantale* is a pair $(L, *)$, where L is a complete lattice with the top element 1 and the bottom element 0, and $*$ is a commutative semigroup operation such that

$$\alpha * \left(\bigvee_{j \in J} \beta_j \right) = \bigvee_{j \in J} \alpha * \beta_j$$

for all $\alpha \in L$ and $\{\beta_j \mid j \in J\} \subseteq L$. The pair $(L, *)$ is called *unital* if there exists an element e such that $e * \alpha = \alpha$ for all $\alpha \in L$.

Given a commutative quantale $(L, *)$, there is a binary operation $\rightarrow: L \times L \rightarrow L$ defined by

$$\alpha \rightarrow \beta = \bigvee \{x \in L \mid \alpha * x \leq \beta\},$$

which is called the *implication* of $*$. Further, these two operations $*$ and \rightarrow form an adjoint pair in the sense that

$$\alpha * \gamma \leq \beta \iff \gamma \leq (\alpha \rightarrow \beta)$$

for all $\alpha, \beta, \gamma \in L$.

Some basic properties of $*$ and \rightarrow are listed in the next proposition.

Proposition 2.2. [9, 20] *Let $(L, *)$ be a commutative quantale. Then for all $\alpha, \beta, \gamma, \delta, \alpha_i \in L$ ($i \in K$), we have*

- (1) $\alpha \rightarrow 1 = 1$ and $1 \rightarrow \alpha = \alpha$;
- (2) $\alpha \leq \beta \implies \alpha \rightarrow \beta = 1$;
- (3) $\alpha \leq \beta \implies \alpha * \gamma \leq \beta * \gamma$, $\alpha \rightarrow \gamma \geq \beta \rightarrow \gamma$, $\gamma \rightarrow \alpha \leq \gamma \rightarrow \beta$;
- (4) $(\alpha \rightarrow \beta) * (\gamma \rightarrow \delta) \leq (\alpha * \gamma) \rightarrow (\beta * \delta)$;
- (5) $(\alpha * \beta) \rightarrow \gamma = \alpha \rightarrow (\beta \rightarrow \gamma)$;
- (6) $(\alpha \rightarrow \beta) * \gamma \leq \alpha \rightarrow (\beta * \gamma)$;
- (7) $\alpha \rightarrow (\beta \rightarrow \gamma) = \beta \rightarrow (\alpha \rightarrow \gamma)$;
- (8) $(\bigwedge_{i \in K} \alpha_i) \rightarrow \beta \geq \bigvee_{i \in K} (\alpha_i \rightarrow \beta)$;
- (9) $(\bigvee_{i \in K} \alpha_i) \rightarrow \beta = \bigwedge_{i \in K} (\alpha_i \rightarrow \beta)$;
- (10) $\beta \rightarrow (\bigwedge_{i \in K} \alpha_i) = \bigwedge_{i \in K} (\beta \rightarrow \alpha_i)$;
- (11) $\beta \rightarrow (\bigvee_{i \in K} \alpha_i) \geq \bigvee_{i \in K} (\beta \rightarrow \alpha_i)$.

Proposition 2.3. [9, 10, 25] *For a commutative unital quantale $(L, *, e)$ with e being the unit element, the following conditions are equivalent:*

- (1) $\forall \alpha, \beta \in L$, $\alpha \leq \beta \implies \alpha = \beta * (\beta \rightarrow \alpha)$;
- (2) $\forall \alpha, \beta, \gamma \in L$, $\alpha, \gamma \leq \beta \implies \gamma * (\beta \rightarrow \alpha) = \alpha * (\beta \rightarrow \gamma)$;
- (3) $\forall \alpha, \beta \in L$, $\alpha \leq \beta \implies \exists \gamma \in L$, $\alpha = \beta * \gamma$;
- (4) $\forall \alpha, \beta \in L$, $\alpha \wedge \beta = \alpha * (\alpha \rightarrow \beta)$ and $e = 1$.

A commutative unital quantale $(L, *)$ is called *divisible* if it satisfies one of the conditions (1)–(4) in Proposition 2.3. In this case, $(L, *)$ is also called a *GL-quantale*. Further, if a *GL-quantale* L still satisfies $(a \rightarrow 0) \rightarrow 0 = a$ for all $a \in L$, then L is an *MV-algebra*[20]. In this paper, we always assume that $(L, *)$ is a GL-quantale.

The concept of *L-set* was introduced by Goguen [7] as a generalization of the notion of Zadeh's fuzzy sets [37]. Let A_0 be a non-empty set. An *L-set* A of A_0 is defined as a mapping from A_0 to L . Let $B : A_0 \rightarrow L$ be an *L-set* and $B(x) \leq A(x)$ ($\forall x \in A_0$). Then the mapping B is called an *L-subset* of A . The family of all *L-subsets* of A is denoted by \mathcal{PA} . For any $\alpha \in L$, $\hat{\alpha} \in \mathcal{PA}$ is defined by $\hat{\alpha}(x) = \alpha$ if $\alpha \leq A(x)$ and $\hat{\alpha}(x) = 0$ otherwise. For any $B_1, B_2 \in \mathcal{PA}$, $B_1 \leq B_2$ iff $B_1(x) \leq B_2(x)$ ($\forall x \in A_0$) (The “ \leq ” is called pointwise order in fuzzy set theory). And the *union*, *intersection*, **-intersection* and *\rightarrow -implication* of B_1 and B_2 are defined as *L-subsets* of A by

$$\begin{aligned} (B_1 \vee B_2)(x) &= B_1(x) \vee B_2(x); \\ (B_1 \wedge B_2)(x) &= B_1(x) \wedge B_2(x); \\ (B_1 * B_2)(x) &= B_1(x) * B_2(x); \\ (A \wedge (B_1 \rightarrow B_2))(x) &= A(x) \wedge (B_1(x) \rightarrow B_2(x)). \end{aligned}$$

Let $(L, *)$ be a GL-quantale. For all $B_i \in \mathcal{PA}$, we write $\bigvee_{i \in I} B_i$ and $\bigwedge_{i \in I} B_i$ to denote the *L-subsets* of A given by

$$\begin{aligned} \left(\bigvee_{i \in I} B_i\right)(x) &= \bigvee_{i \in I} B_i(x); \\ \left(\bigwedge_{i \in I} B_i\right)(x) &= \bigwedge_{i \in I} B_i(x). \end{aligned}$$

Definition 2.4. [25] Let $A : A_0 \rightarrow L$ and $B : B_0 \rightarrow L$ be two *L-sets*. An *L-valued relation* $P : A \rightarrow B$ is a mapping $P : A_0 \times B_0 \rightarrow L$ such that

$$P(x, y) \leq A(x) \wedge B(y) \quad (\forall x \in A_0, y \in B_0).$$

For an *L-valued relation* P , a related *L-valued relation* P^{-1} is defined by $P^{-1}(x, y) = P(y, x)$ for all $x \in A_0$ and $y \in B_0$, called the *inverse* of P .

Definition 2.5. [25] Let A be an *L-set* and let $P : A \rightarrow A$ be an *L-valued relation* on A .

- (1) P is called *reflexive* if $A(x) \leq P(x, x)$ for all $x \in A_0$;
- (2) P is called *transitive* if $P(x, y) * (A(y) \rightarrow P(y, z)) \leq P(x, z)$ for all $x, y, z \in A_0$;
- (3) P is called *symmetric* if $P(x, y) = P(y, x)$ for all $x, y \in A_0$.

In Definition 2.5, if we take $A = 1_X$, then P is an *L-fuzzy relation*. Hence, the *L-fuzzy relation* is a special case of the *L-valued relation*. Further, Three properties of *L-valued relation* are consistent with those of *L-fuzzy relation*.

Definition 2.6. [25] Let A be an *L-set* and let $P : A \rightarrow A$ be an *L-valued relation* on A .

- (1) P is called an L -valued preorder on A if it is reflexive and transitive.
(2) P is called an L -valued equivalence on A if it is reflexive, transitive and symmetric.

3. L -valued Fuzzy Rough Approximation Operators

In this section, we will define L -valued fuzzy rough sets and study the properties of L -valued lower and L -valued upper fuzzy rough approximation operators with respect to L -valued relations.

Definition 3.1. Let $A : A_0 \rightarrow L$ be an L -set and let P be an L -valued relation on A . We call the pair (A, P) an L -valued approximation space. Define two mappings $\overline{P}_A, \underline{P}_A : \mathcal{P}A \rightarrow \mathcal{P}A$ as follows: for all $B \in \mathcal{P}A$ and all $x \in A_0$,

The operators $\overline{P}_A, \underline{P}_A : \mathcal{P}A \rightarrow \mathcal{P}A$ are respectively called the L -valued

$$\overline{P}_A(B)(x) = \bigvee_{y \in A_0} B(y) * (A(y) \rightarrow P(y, x)),$$

$$\underline{P}_A(B)(x) = \bigwedge_{y \in A_0} A(x) * (P(y, x) \rightarrow B(y)).$$

upper and the L -valued lower fuzzy rough approximation operators of (A, P) , and the pair $(\overline{P}_A(B), \underline{P}_A(B))$ is called an L -valued fuzzy rough set of B w.r.t. (A, P) .

Example 3.2. Let $L = [0, 1]$ and $* = \wedge$. Then residuation implication of \wedge is given by

$$\alpha \rightarrow \beta = \begin{cases} 1, & \alpha \leq \beta, \\ \beta, & \text{others.} \end{cases}$$

Let A be the identity mapping on L and define $P : A \rightarrow A$ by $P(x, y) = \min\{x, y\}$. For $B : [0, 1] \rightarrow [0, 1]$

$$B(x) = \begin{cases} A(x), & x \leq 1/2, \\ 0, & \text{others,} \end{cases}$$

according to Definition 3.1, $\overline{P}_A(B)(x) = 1/2$ and $\underline{P}_A(B)(x) = 0$.

Proposition 3.3. For all $a, b, c \in L$, if $a \leq b$, then $b \wedge [(b \rightarrow a) \rightarrow c] = b * (a \rightarrow c)$.

Proof. According to Proposition 2.3(1) and (4), we have

$$\begin{aligned} & b \wedge [(b \rightarrow a) \rightarrow c] \\ &= b * \{b \rightarrow [(b \rightarrow a) \rightarrow c]\} \\ &= b * \{[b * (b \rightarrow a)] \rightarrow c\} \\ &= b * (a \rightarrow c). \end{aligned}$$

According to Proposition 3.3, the L -valued lower fuzzy rough approximation operator \underline{P}_A can be equivalently described as follows: □

$$\underline{P}_A(B)(x) = \bigwedge_{y \in A_0} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow B(y)].$$

Remark 3.4. In Definition 3.1, if $A = 1_X$ and P is an L -fuzzy relation on A , then

$$\begin{aligned}\overline{P}(B)(x) &= \bigvee_{y \in X} B(y) * P(y, x), \\ \underline{P}(B)(x) &= \bigwedge_{y \in X} P(y, x) \rightarrow B(y).\end{aligned}$$

Then the pair $(\overline{P}, \underline{P})$ is precisely an L -fuzzy rough set in [26, 29].

The following theorem presents some basic properties of the L -valued upper fuzzy rough approximation operator.

Let $A : A_0 \rightarrow L$ be an L -set. For every $y \in A_0$, we define a new L -set $A_y : A_0 \rightarrow L$ by

$$A_y(x) = \begin{cases} A(x), & x = y, \\ 0, & x \neq y. \end{cases}$$

Obviously, A_y is an L -subset of A .

Theorem 3.5. *Let $A : A_0 \rightarrow L$ be an L -set and let P be an L -valued relation on A . Then the L -valued upper fuzzy rough approximation operator \overline{P}_A has the following properties: $\forall B, B_i \in \mathcal{P}A, i \in I$, where I is the index set,*

(UF1) $\overline{P}_A(\widehat{\alpha} * (\widehat{\beta} \rightarrow B)) = \widehat{\alpha} * (\widehat{\beta} \rightarrow \overline{P}_A(B))$ for all $\alpha, \beta \in L$ with $\alpha \leq \beta$ and $\bigvee_{x \in X} B(x) \leq \beta$;

(UF2) $\overline{P}_A(\bigvee_{i \in I} B_i) = \bigvee_{i \in I} \overline{P}_A(B_i)$;

(UF3) $B_1 \leq B_2 \implies \overline{P}_A(B_1) \leq \overline{P}_A(B_2)$;

(UF4) $\overline{P}_A(\widehat{0}) = \widehat{0}$;

(UF5) $\overline{P}_A(A \wedge \widehat{\alpha}) \leq A \wedge \widehat{\alpha}$ for all $\alpha \in L$;

(UF6) $\overline{P}_A(A_y * \widehat{\alpha})(x) = P(y, x) * \widehat{\alpha}$ for all $\alpha \in L$ with $A_y * \widehat{\alpha} \in \mathcal{P}A$;

(UF7) $\overline{P}_A(A_y)(x) = P(y, x)$.

Proof. (UF1) For any $x \in A_0$, we have

$$\begin{aligned}& \overline{P}_A(\widehat{\alpha} * (\widehat{\beta} \rightarrow B))(x) \\ &= \bigvee_{y \in A_0} (\widehat{\alpha} * (\widehat{\beta} \rightarrow B))(y) * (A(y) \rightarrow P(y, x)) \\ &= (\beta \rightarrow \alpha) * \bigvee_{y \in A_0} B(y) * (A(y) \rightarrow P(y, x)) \\ &= (\beta \rightarrow \alpha) * \overline{P}_A(B)(x) \\ &= (\widehat{\alpha} * (\widehat{\beta} \rightarrow \overline{P}_A(B))).\end{aligned}$$

Hence, $\overline{P}_A(\widehat{\alpha} * (\widehat{\beta} \rightarrow B)) = \widehat{\alpha} * (\widehat{\beta} \rightarrow \overline{P}_A(B))$.

(UF2) For any $x \in A_0$, we have

$$\begin{aligned}& \overline{P}_A(\bigvee_{i \in I} B_i)(x) \\ &= \bigvee_{y \in A_0} (\bigvee_{i \in I} B_i)(y) * (A(y) \rightarrow P(y, x)) \\ &= \bigvee_{y \in A_0} (\bigvee_{i \in I} B_i(y)) * (A(y) \rightarrow P(y, x)) \\ &= \bigvee_{y \in A_0} \bigvee_{i \in I} (B_i(y) * (A(y) \rightarrow P(y, x))) \\ &= \bigvee_{i \in I} \bigvee_{y \in A_0} B_i(y) * (A(y) \rightarrow P(y, x)) \\ &= \bigvee_{i \in I} \overline{P}_A(B_i)(x).\end{aligned}$$

Hence, $\overline{P}_A(\bigvee_{i \in I} B_i) = \bigvee_{i \in I} \overline{P}_A(B_i)$.

(UF3) It follows from Proposition 2.2(3) directly.

(UF5) For any $x \in A_0$, we have

$$\begin{aligned} & \overline{P}_A(A \wedge \widehat{\alpha})(x) \\ &= \bigvee_{y \in A_0} (A \wedge \widehat{\alpha})(y) * (A(y) \rightarrow P(y, x)) \\ &= \bigvee_{y \in A_0} (\alpha \wedge A(y)) * (A(y) \rightarrow P(y, x)) \\ &= \bigvee_{y \in A_0} (A(y) \rightarrow \alpha) * P(y, x) \end{aligned}$$

Since $P(y, x) \leq A(x) \wedge A(y)$, we have

$$\bigvee_{y \in A_0} (A(y) \rightarrow \alpha) * P(y, x) \leq \bigvee_{y \in A_0} (A(y) \rightarrow \alpha) * A(x) \leq A(x)$$

and

$$\bigvee_{y \in A_0} (A(y) \rightarrow \alpha) * P(y, x) \leq \bigvee_{y \in A_0} (A(y) \rightarrow \alpha) * A(y) \leq \alpha.$$

Then $\bigvee_{y \in A_0} (A(y) \rightarrow \alpha) * P(y, x) \leq A(x) \wedge \alpha$. Hence, $\overline{P}(A \wedge \widehat{\alpha}) \leq A \wedge \widehat{\alpha}$.

(UF6) For any $x \in A_0$, we have

$$\begin{aligned} & \overline{P}_A(A_y * \widehat{\alpha})(x) \\ &= \bigvee_{z \in A_0} (A_y * \widehat{\alpha})(z) * (A(z) \rightarrow P(z, x)) \\ &= A(y) * \alpha * (A(y) \rightarrow P(y, x)) \\ &= \alpha * [A(y) * (A(y) \rightarrow P(y, x))] \\ &= \alpha * P(y, x) \end{aligned}$$

(UF7) By taking $\widehat{\alpha} = \widehat{1}$ in (UF6), we have $\overline{P}_A(A_y)(x) = P(y, x)$. \square

The following theorem gives some basic properties of the L -valued lower fuzzy rough approximation operator.

Let $A : A_0 \rightarrow L$ be an L -set. For every $y \in A_0$, $\alpha \in L$ and $\alpha \leq A(y)$, we define a new L -set $A-y_\alpha : A_0 \rightarrow L$ by

$$(A-y_\alpha)(x) = \begin{cases} A(x), & x \neq y, \\ \alpha, & x = y. \end{cases}$$

Obviously, $A-y_\alpha$ is an L -subset of A .

Theorem 3.6. *The L -lower fuzzy rough approximation operator \underline{P}_A has the following properties: $\forall B, B_i, \widehat{\alpha} \in \mathcal{PA}, i \in I$, where I is the index set,*

- (LL1) $\underline{P}_A(A \wedge (\widehat{\alpha} \rightarrow B)) = A \wedge (\widehat{\alpha} \rightarrow \underline{P}_A(B))$;
- (LL2) $\underline{P}_A(\bigwedge_{i \in I} B_i) = \bigwedge_{i \in I} \underline{P}_A(B_i)$;
- (LL3) $B_1 \leq B_2 \Rightarrow \underline{P}_A(B_1) \leq \underline{P}_A(B_2)$;
- (LL4) $\underline{P}_A(A) = A$;
- (LL5) $A \wedge \widehat{\alpha} \leq \underline{P}_A(A \wedge \widehat{\alpha})$;
- (LL6) $\underline{P}_A(A-y_\alpha)(x) = A(x) * (P(y, x) \rightarrow \alpha)$.

Proof. (LL1) For any $x \in A_0$, we have

$$\begin{aligned}
& \underline{P}_A(A \wedge (\widehat{\alpha} \rightarrow B))(x) \\
&= \bigwedge_{y \in A_0} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow (A(y) \wedge (\alpha \rightarrow B(y)))] \\
&= \bigwedge_{y \in A_0} A(x) \wedge [A(x) \rightarrow P(y, x) \rightarrow A(y)] \wedge [(A(x) \rightarrow P(y, x)) \rightarrow (\alpha \rightarrow B(y))] \\
&= \bigwedge_{y \in A_0} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow (\alpha \rightarrow B(y))] \\
&= \bigwedge_{y \in A_0} A(x) * [\alpha \rightarrow (P(y, x) \rightarrow B(y))].
\end{aligned}$$

On the other hand,

$$\begin{aligned}
& [A \wedge (\alpha \rightarrow \underline{P}_A(B))](x) \\
&= A(x) \wedge (\alpha \rightarrow \bigwedge_{y \in A_0} [A(x) \wedge (A(x) \rightarrow P(y, x) \rightarrow B(y))]) \\
&= A(x) \wedge \bigwedge_{y \in A_0} (\alpha \rightarrow A(x)) \wedge (A(x) \rightarrow P(y, x) \rightarrow B(y)) \\
&= \bigwedge_{y \in A_0} A(x) \wedge (\alpha \rightarrow [(A(x) \rightarrow P(y, x)) \rightarrow B(y)]) \\
&= \bigwedge_{y \in A_0} A(x) \wedge [A(x) \rightarrow P(y, x) \rightarrow (\alpha \rightarrow B(y))] \\
&= \bigwedge_{y \in A_0} A(x) * [\alpha \rightarrow (P(y, x) \rightarrow B(y))].
\end{aligned}$$

Therefore, $\underline{P}_A(A \wedge (\widehat{\alpha} \rightarrow B)) = A \wedge (\widehat{\alpha} \rightarrow \underline{P}_A(B))$.

(LL2) For any $x \in A_0$, we have

$$\begin{aligned}
& \underline{P}_A(\bigwedge_{i \in I} B_i)(x) \\
&= \bigwedge_{y \in A_0} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow \bigwedge_{i \in I} B_i(y)] \\
&= \bigwedge_{y \in A_0} A(x) \wedge \bigwedge_{i \in I} [(A(x) \rightarrow P(y, x)) \rightarrow B_i(y)] \\
&= \bigwedge_{y \in A_0} \bigwedge_{i \in I} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow B_i(y)] \\
&= \bigwedge_{i \in I} \bigwedge_{y \in A_0} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow B_i(y)] \\
&= \bigwedge_{i \in I} \underline{P}_A(B_i)(x).
\end{aligned}$$

Therefore, $\underline{P}_A(\bigwedge_{i \in I} B_i) = \bigwedge_{i \in I} \underline{P}_A(B_i)$.

(LL3) It follows from Proposition 2.2(3) directly.

(LL5) For any $x \in A_0$, we have

$$\begin{aligned}
& \underline{P}_A(A \wedge \widehat{\alpha})(x) \\
&= \bigwedge_{y \in A_0} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow (A(y) \wedge \alpha)] \\
&= \bigwedge_{y \in A_0} A(x) \wedge \{[(A(x) \rightarrow P(y, x)) \rightarrow A(y)] \wedge [(A(x) \rightarrow P(y, x)) \rightarrow \alpha]\} \\
&= \{ \bigwedge_{y \in A_0} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow A(y)] \} \wedge \{ \bigwedge_{y \in A_0} [(A(x) \rightarrow P(y, x)) \rightarrow \alpha] \} \\
&= \underline{P}_A(A)(x) \wedge \{ \bigwedge_{y \in A_0} [(A(x) \rightarrow P(y, x)) \rightarrow \alpha] \} \\
&= A(x) \wedge \{ \bigwedge_{y \in A_0} [(A(x) \rightarrow P(y, x)) \rightarrow \alpha] \} \\
&\geq A(x) \wedge \bigwedge_{y \in A_0} (1 \rightarrow \alpha) \\
&= A(x) \wedge \bigwedge_{y \in A_0} \widehat{\alpha}(x) \\
&= (A \wedge \widehat{\alpha})(x).
\end{aligned}$$

Therefore, $A \wedge \hat{\alpha} \leq \underline{P}_A(A \wedge \hat{\alpha})$.

(LL6) For any $x \in A_0$, we have

$$\begin{aligned} & \underline{P}_A(A-y_\alpha)(x) \\ = & \bigwedge_{z \in A_0} A(x) \wedge (P(z, x) \rightarrow (A-y_\alpha)(z)) \\ = & A(x) \wedge (P(y, x) \rightarrow \alpha) \wedge \bigwedge_{z \neq y \in A_0} A(x) \wedge (P(z, x) \rightarrow A(z)) \\ = & A(x) \wedge (P(y, x) \rightarrow \alpha). \end{aligned}$$

Therefore, $\underline{P}_A(A-y_\alpha)(x) = A(x) * (P(y, x) \rightarrow \alpha)$. \square

In the following, let L be an MV-algebra. We can define the pseudo complement of B , denoted by

$$\sim B(x) = A(x) * (B(x) \rightarrow 0) \quad (\forall x \in A_0).$$

Obviously, for all $x \in A_0$, we have $\sim B(x) \leq A(x)$. Thus $\sim B$ is an L -subset of A .

Further, for all $B_1, B_2 \in \mathcal{PA}$, we have

$$\sim(B_1 \vee B_2) = \sim B_1 \vee \sim B_2; \quad \sim(B_1 \wedge B_2) = \sim B_1 \wedge \sim B_2.$$

Then we have the following results.

Theorem 3.7. *Let (A, P) be an L -valued approximation space and let \bar{P}_A (resp. \underline{P}_A) be the L -valued upper fuzzy rough approximation operator (resp. L -valued lower fuzzy rough approximation operator). Then for every $B \in \mathcal{PA}$,*

$$\sim \bar{P}_A(\sim B) = \underline{P}_A(B);$$

$$\sim \underline{P}_A(\sim B) = \bar{P}_A(B).$$

Proof. For all $B \in \mathcal{PA}$ and $x \in A_0$, we have

$$\begin{aligned} & \sim \bar{P}_A(\sim B)(x) \\ = & A(x) * (\bar{P}_A(\sim B)(x) \rightarrow 0) \\ = & A(x) * \{ [\bigvee_{y \in A_0} A(y) * (B(y) \rightarrow 0) * (A(y) \rightarrow P(y, x))] \rightarrow 0 \} \\ = & A(x) * [\bigvee_{y \in A_0} P(y, x) * (B(y) \rightarrow 0) \rightarrow 0] \\ = & A(x) * (\bigwedge_{y \in A_0} (P(y, x) \rightarrow B(y))) \\ = & \bigwedge_{y \in A_0} A(x) * (P(y, x) \rightarrow B(y)) \\ = & \underline{P}_A(B)(x). \end{aligned}$$

Hence, $\sim \bar{P}_A(\sim B) = \underline{P}_A(B)$.

For all $B \in \mathcal{PA}$ and all $x \in A_0$, we have

$$\begin{aligned}
& \sim \underline{P}_A(\sim B)(x) \\
&= A(x) * (\underline{P}_A(\sim B)(x) \rightarrow 0) \\
&= A(x) * [(\bigwedge_{y \in A_0} A(x) * [P(y, x) \rightarrow (A(y) * (B(y) \rightarrow 0))]) \rightarrow 0] \\
&= A(x) * [\bigwedge_{y \in A_0} A(x) * (P(y, x) * (A(y) \rightarrow B(y)) \rightarrow 0) \rightarrow 0] \\
&= A(x) * \{ \bigvee_{y \in A_0} A(x) \rightarrow [P(y, x) * (A(y) \rightarrow B(y))] \} \\
&= \bigvee_{y \in A_0} A(x) \wedge [B(y) * (A(y) \rightarrow P(y, x))] \\
&= \bigvee_{y \in A_0} B(y) * (A(y) \rightarrow P(y, x)) \\
&= \overline{P}_A(B)(x).
\end{aligned}$$

Hence, $\sim \underline{P}_A(\sim B) = \overline{P}_A(B)$. \square

According to Theorem 3.7, the L -valued upper and lower fuzzy rough approximation operators are dual w.r.t \sim and can be described by each other. Hence, every item in Theorem 3.6 is dual to that in Theorem 3.5 with the same number.

Remark 3.8. In Theorems 3.5, 3.6 and 3.7, if $A = 1_X$ and P is an L -fuzzy relation on A , the corresponding results are known in [29, 31, 33].

The following theorem shows that some properties of L -valued fuzzy rough approximation operators derived from the L -valued approximation space (A, P) can be used to characterize some special properties of the L -valued relation P .

Theorem 3.9. *Let (A, P) be an L -valued approximation space. Then the following statements are equivalent:*

- (1) P is reflexive;
- (2) $\underline{P}_A(B) \leq B$;
- (3) $B \leq \overline{P}_A(B)$;
- (4) $\underline{P}_A^{-1}(B) \leq B$;
- (5) $B \leq \overline{P}_A^{-1}(B)$.

Proof. (1) \implies (2) For all $B \in \mathcal{PA}$ and $x \in A_0$,

$$\begin{aligned}
& \underline{P}_A(B)(x) \\
&= \bigwedge_{y \in A_0} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow B(y)] \\
&= A(x) \wedge [(A(x) \rightarrow P(x, x)) \rightarrow B(x)] \\
&\quad \wedge \{ \bigwedge_{y \neq x \in A_0} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow B(y)] \} \\
&= B(x) \wedge \bigwedge_{y \neq x \in A_0} A(x) \wedge [(A(x) \rightarrow P(y, x)) \rightarrow B(y)] \\
&\leq B(x).
\end{aligned}$$

Therefore, $\underline{P}_A(B) \leq B$.

(2) \implies (1) Let $B = A - x_{P(x,x)}$. Then $\underline{P}_A(B)(x) \leq B(x)$, that is

$$\bigwedge_{z \in A_0} A(x) * (P(z, x) \rightarrow B(z)) \leq B(x) = P(x, x),$$

and

$$\begin{aligned} & \bigwedge_{z \in A_0} A(x) * (P(z, x) \rightarrow B(z)) \\ &= \left[\bigwedge_{z \neq x \in A_0} A(x) * (P(z, x) \rightarrow A(z)) \right] \wedge [A(x) * (P(x, x) \rightarrow P(x, x))] \\ &= A(x). \end{aligned}$$

Then $A(x) \leq P(x, x)$. Hence, P is reflexive.

(1) \implies (3) For all $B \in \mathcal{PA}$ and $x \in A_0$,

$$\begin{aligned} & \overline{P}_A(B)(x) \\ &= \bigvee_{y \in A_0} B(y) * (A(y) \rightarrow P(y, x)) \\ &= \bigvee_{y \in A_0} B(y) * (P(y, y) \rightarrow P(y, x)) \\ &= B(x) \vee \bigvee_{y \neq x \in A_0} B(y) * (P(y, y) \rightarrow P(y, x)) \\ &= B(x). \end{aligned}$$

Hence, $B \leq \overline{P}_A(B)$.

(3) \implies (1) Let $B = A_x$, by (UF7), we have

$$A(x) = A_x \leq \overline{P}_A(A_x)(x) = P(x, x).$$

Hence, P is reflexive.

(1) \implies (5) Let P be reflexive. For all $x \in A_0$, $P^{-1}(x, x) = P(x, x) \geq A(x)$, then P^{-1} is reflexive.

Similarly, the statements of (1) \iff (4) and (1) \iff (5) are valid. \square

Furthermore, according to (UF7) and (LL6), we have the following conclusion.

Theorem 3.10. *Let (A, P) be an L-valued approximation space. For all $x, y \in A_0$, the following statements are equivalent:*

- (1) P is symmetric;
- (2) $\overline{P}_A(A_x)(y) = \overline{P}_A(A_y)(x)$;
- (3) $[A(x) \rightarrow \underline{P}_A(A - y_0)(x)] \rightarrow 0 = [A(y) \rightarrow \underline{P}_A(A - x_0)(y)] \rightarrow 0$.

According to Theorem 3.9, we can use the L-valued upper fuzzy rough approximation operator to characterize the symmetry of P . But the construction of L-valued lower fuzzy rough approximation operator is relatively complex. If $A = 1_X$ and P is an L-fuzzy relation, then this conclusion is consistent with Proposition 3.9 in [27].

Theorem 3.11. *Let (A, P) be an L-valued approximation space. The following statements are equivalent:*

- (1) P is symmetric;
- (2) $\overline{P}_A(\underline{P}_A(B)) \leq B$;

- (3) $B \leq \underline{P}_A(\overline{P}_A(B))$;
(4) $\overline{P}^{-1}_A(\underline{P}^{-1}_A(B)) \leq B$;
(5) $B \leq \underline{P}^{-1}_A(\overline{P}^{-1}_A(B))$.

Proof. (1) \implies (2) If P is symmetric, then for all $B \in \mathcal{PA}$ and all $x \in A_0$, we have

$$\begin{aligned}
& \overline{P}_A(\underline{P}_A(B))(x) \\
&= \bigvee_{y \in A_0} \underline{P}_A(B)(y) * (A(y) \rightarrow P(y, x)) \\
&= \bigvee_{y \in A_0} (\bigwedge_{z \in A_0} A(y) * (P(z, y) \rightarrow B(z))) * (A(y) \rightarrow P(y, x)) \\
&\leq \bigvee_{y \in A_0} (A(y) * (P(x, y) \rightarrow B(x))) * (A(y) \rightarrow P(y, x)) \\
&= \bigvee_{y \in A_0} A(y) * (A(y) \rightarrow P(y, x)) * (P(x, y) \rightarrow B(x)) \\
&= \bigvee_{y \in A_0} P(y, x) * (P(x, y) \rightarrow B(x)) \\
&\leq \bigvee_{y \in A_0} B(x) \\
&= B(x).
\end{aligned}$$

Hence, $\overline{P}_A(\underline{P}_A(B)) \leq B$.

(2) \implies (1) Let $B : A_0 \rightarrow L$ and $B = Px_0$. For all $y \in A_0$, $B(y) = P(y, x_0) \leq A(y) \wedge A(x_0)$, then $B \in \mathcal{PA}$. Hence, $\overline{P}_A(\underline{P}_A(B)) \leq B$. For all $y \in A_0$, we have

$$\begin{aligned}
& \overline{P}_A(\underline{P}_A(B))(y) \rightarrow B(y) \\
&= \bigvee_{x \in A_0} \underline{P}_A(B)(x) * (A(x) \rightarrow P(x, y)) \rightarrow B(y) \\
&= \bigvee_{x \in A_0} [\bigwedge_{z \in A_0} A(x) * (P(z, x) \rightarrow B(z))] * (A(x) \rightarrow P(x, y)) \rightarrow B(y) \\
&\leq \bigwedge_{z \in A_0} (A(x_0) * (P(z, x_0) \rightarrow P(z, x_0))) * (A(x_0) \rightarrow P(x_0, y)) \rightarrow P(y, x_0) \\
&= \bigwedge_{z \in A_0} A(x_0) * (A(x_0) \rightarrow P(x_0, y)) \rightarrow P(y, x_0) \\
&= P(x_0, y) \rightarrow P(y, x_0).
\end{aligned}$$

Then, for all $x_0 \in A_0$, we have $P(x_0, y) \rightarrow P(y, x_0) = 1$. Hence, P is symmetric.

(1) \implies (3) If P is symmetric, then for all $B \in \mathcal{PA}$ and all $x \in A_0$, we have

$$\begin{aligned}
& \underline{P}_A(\overline{P}_A(B))(x) \\
&= A(x) \wedge \bigwedge_{y \in A_0} [(A(x) \rightarrow P(y, x)) \rightarrow \overline{P}_A(B)(y)] \\
&= A(x) \wedge \bigwedge_{y \in A_0} [(A(x) \rightarrow P(y, x)) \rightarrow (\bigvee_{z \in A_0} B(z) * (A(z) \rightarrow P(z, y)))] \\
&\geq A(x) \wedge \bigwedge_{y \in A_0} (A(x) \rightarrow P(y, x)) \rightarrow [B(x) * (A(x) \rightarrow P(x, y))] \\
&\geq A(x) \wedge \bigwedge_{y \in A_0} B(x) \\
&= B(x).
\end{aligned}$$

Therefore, $B \leq \underline{P}_A(\overline{P}_A(B))$.

(3) \implies (1) Let $B = A_y$. Then by (UF7), we have

$$\begin{aligned} & \underline{P}_A(\overline{P}_A(A_y))(y) \\ &= A(y) \wedge \bigwedge_{x \in A_0} [(A(y) \rightarrow P(x, y)) \rightarrow \overline{P}_A(A_y)(x)] \\ &\leq A(y) \wedge [(A(y) \rightarrow P(x, y)) \rightarrow P(y, x)] \\ &\leq (A(y) \rightarrow P(x, y)) \rightarrow P(y, x). \end{aligned}$$

Since $A \leq \underline{P}_A(\overline{P}_A(A))$, we have $P(x, y) \rightarrow P(y, x) = 1$. Hence, P is symmetric.

Let P be symmetric. For all $x, y \in A_0$, $P^{-1}(x, y) = P(y, x) = P(x, y) = P^{-1}(y, x)$, then P^{-1} is symmetric.

Similarly, the statements of (1) \iff (4) and (1) \iff (5) are valid. \square

Theorem 3.12. *Let (A, P) be an L-valued approximation space. The following statements are equivalent:*

- (1) P is transitive;
- (2) $\underline{P}_A(B) \leq \underline{P}_A(\underline{P}_A(B))$;
- (3) $\overline{P}_A(\overline{P}_A(B)) \leq \overline{P}_A(B)$;
- (4) $\underline{P}_A^{-1}(B) \leq \underline{P}_A^{-1}(\underline{P}_A^{-1}(B))$;
- (5) $\overline{P}_A^{-1}(\overline{P}_A^{-1}(B)) \leq \overline{P}_A^{-1}(B)$.

Proof. (1) \implies (2) If P is transitive, then for all $B \in \mathcal{PA}$ and all $x \in A_0$, we have

$$\begin{aligned} & \underline{P}_A(\underline{P}_A(B))(x) \\ &= A(x) \wedge \bigwedge_{y \in A_0} [(A(x) \rightarrow P(y, x)) \rightarrow \underline{P}_A(B)(y)] \\ &= A(x) \wedge \bigwedge_{y \in A_0} \{ (A(x) \rightarrow P(y, x)) \rightarrow [A(y) \wedge \bigwedge_{z \in A_0} ((A(y) \rightarrow P(z, y)) \rightarrow B(z))] \} \\ &= A(x) \wedge \bigwedge_{y \in A_0} \{ [(A(x) \rightarrow P(y, x)) \rightarrow A(y)] \\ &\quad \wedge [(A(x) \rightarrow P(y, x)) \rightarrow \bigwedge_{z \in A_0} ((A(y) \rightarrow P(z, y)) \rightarrow B(z))] \} \\ &= A(x) \wedge \bigwedge_{y \in A_0} \{ (A(x) \rightarrow P(y, x)) \rightarrow \\ &\quad [(A(x) \rightarrow P(y, x)) \rightarrow \bigwedge_{z \in A_0} ((A(y) \rightarrow P(z, y)) \rightarrow B(z))] \} \\ &= \bigwedge_{y \in A_0} \bigwedge_{z \in A_0} A(x) \wedge \{ (A(x) \rightarrow P(y, x)) \rightarrow \\ &\quad [(A(x) \rightarrow P(y, x)) \rightarrow ((A(y) \rightarrow P(z, y)) \rightarrow B(z))] \} \\ &= \bigwedge_{y \in A_0} \bigwedge_{z \in A_0} A(x) * (P(y, x) \rightarrow \\ &\quad [(A(x) \rightarrow P(y, x)) \rightarrow ((A(y) \rightarrow P(z, y)) \rightarrow B(z))]) \\ &= \bigwedge_{y \in A_0} \bigwedge_{z \in A_0} A(x) * [P(y, x) * (A(y) \rightarrow P(z, y)) \rightarrow B(z)] \\ &= \bigwedge_{y \in A_0} \bigwedge_{z \in A_0} A(x) * [P(z, y) * (A(y) \rightarrow P(y, x)) \rightarrow B(z)] \\ &\geq \bigwedge_{z \in A_0} A(x) * (P(z, x) \rightarrow B(z)) \\ &= \underline{P}_A(B)(x). \end{aligned}$$

Hence, $\underline{P}_A(B) \leq \underline{P}_A(\underline{P}_A(B))$.

(2) \implies (1) For all $B \in \mathcal{PA}$, we have $\underline{P}_A(B) \leq \underline{P}_A(\underline{P}_A(B))$, then

$$\underline{P}_A(B)(x) \rightarrow \underline{P}_A(\underline{P}_A(B))(x) = 1 \quad (\forall x \in A_0).$$

For all $x \in A_0$, we have

$$\begin{aligned} & \underline{P}_A(\underline{P}_A(B))(x) \\ = & \bigwedge_{y \in A_0} A(x) * (P(y, x) \rightarrow \underline{P}_A(B)(y)) \\ = & \bigwedge_{y \in A_0} A(x) * (P(y, x) \rightarrow [A(y) \wedge \bigwedge_{z \in A_0} ((A(y) \rightarrow P(z, y)) \rightarrow B(z))]) \\ = & \bigwedge_{y \in A_0} A(x) * [(P(y, x) \rightarrow A(y)) \wedge \bigwedge_{z \in A_0} (P(y, x) \rightarrow ((A(y) \rightarrow P(z, y)) \rightarrow B(z)))] \\ = & \bigwedge_{y \in A_0} \bigwedge_{z \in A_0} A(x) * [P(z, y) * (A(y) \rightarrow P(y, x)) \rightarrow B(z)] \end{aligned}$$

and

$$\underline{P}_A(B)(x) = \bigwedge_{z \in A_0} A(x) * (P(z, x) \rightarrow B(z)).$$

By $\underline{P}_A(B)(x) \rightarrow \underline{P}_A(\underline{P}_A(B))(x) = 1$ ($\forall x \in A_0$), we have

$$P(z, y) * (A(y) \rightarrow P(y, x)) \rightarrow P(z, x) = 1.$$

Hence $P(z, y) * (A(y) \rightarrow P(y, x)) \leq P(z, x)$. That is to say, P is transitive.

(1) \implies (3) If P is transitive, then for all $B \in \mathcal{PA}$ and all $x \in A_0$, we have

$$\begin{aligned} & \overline{P}_A(\overline{P}_A(B))(x) \\ = & \bigvee_{y \in A_0} \overline{P}_A(B)(y) * (A(y) \rightarrow P(y, x)) \\ = & \bigvee_{y \in A_0} \bigvee_{z \in A_0} B(z) * (A(z) \rightarrow P(z, y)) * (A(y) \rightarrow P(y, x)) \\ = & \bigvee_{y \in A_0} \bigvee_{z \in A_0} (A(z) \rightarrow B(z)) * P(z, y) * (A(y) \rightarrow P(y, x)) \\ \leq & \bigvee_{y \in A_0} \bigvee_{z \in A_0} (A(z) \rightarrow B(z)) * P(z, x) \\ = & \bigvee_{z \in A_0} B(z) * (A(z) \rightarrow P(z, x)) \\ = & \overline{P}_A(B)(x). \end{aligned}$$

Conversely, if (3) holds, then for all $x, z \in A_0$, we have

$$\begin{aligned} P(x, z) &= \overline{P}_A(A_x)(z) \\ &\geq \overline{P}_A(\overline{P}_A(A_x))(z) \\ &= \bigvee_{y \in A_0} P(x, y) * (A(y) \rightarrow P(y, z)). \end{aligned}$$

Hence, P is transitive.

If P is transitive, then for all $x, y \in A_0$, we have

$$\begin{aligned} & P^{-1}(x, y) * (A(y) \rightarrow P^{-1}(y, z)) \\ = & P(y, x) * (A(y) \rightarrow P(z, y)) \\ = & P(z, y) * (A(y) \rightarrow P(y, x)) \\ \leq & P(z, x) \\ = & P^{-1}(x, z). \end{aligned}$$

Then P^{-1} is transitive. Similarly, the statements of (1) \iff (4) and (1) \iff (5) are valid. \square

When some special classes of L -valued relations are considered, we can obtain the following conclusions.

Corollary 3.13. *Let (A, P) be an L -valued approximation space and P be an L -valued preorder on A . Then the L -valued fuzzy rough approximation operators have the following properties:*

- (1) $\underline{P}_A(\underline{P}_A(B)) = \underline{P}_A(B)$;
- (2) $\overline{P}_A(\overline{P}_A(B)) = \overline{P}_A(B)$;
- (3) $\underline{P}^{-1}_A(B) = \underline{P}^{-1}_A(\underline{P}^{-1}_A(B))$;
- (4) $\overline{P}^{-1}_A(\overline{P}^{-1}_A(B)) = \overline{P}^{-1}_A(B)$.

Proof. It follows immediately from Theorems 3.5, 3.9 and 3.12. \square

Corollary 3.14. *Let (A, P) be an L -valued approximation space. Then the following statements are equivalent:*

- (1) P is an L -valued equivalence relation;
- (2) $\overline{P}_A(\underline{P}_A(B)) = \underline{P}_A(B)$;
- (3) $\underline{P}_A(\overline{P}_A(B)) = \overline{P}_A(B)$;
- (4) $\overline{P}^{-1}_A(\underline{P}^{-1}_A(B)) = \underline{P}^{-1}_A(B)$;
- (5) $\underline{P}^{-1}_A(\overline{P}^{-1}_A(B)) = \overline{P}^{-1}_A(B)$.

Proof. (1) \implies (2) Since P is transitive, for all $B \in \mathcal{PA}$, we have

$$\underline{P}_A(B) \leq \underline{P}_A(\underline{P}_A(B)).$$

Furthermore, by (UF3) and P is symmetric, we have

$$\overline{P}_A(\underline{P}_A(B)) \leq \overline{P}_A(\underline{P}_A(\underline{P}_A(B))) \leq \underline{P}_A(B).$$

Hence, $\overline{P}_A(\underline{P}_A(B)) = \underline{P}_A(B)$.

(2) \implies (1) It follows immediately from Theorems 3.9, 3.11 and 3.12. \square

4. Axiomatic Characterizations of L -valued Fuzzy Rough Approximation Operators

In this section, we will study axiomatic characterizations of the L -valued fuzzy rough approximation operators. It will be shown that the L -valued fuzzy rough approximation operators can be characterized by a pair of L -fuzzy set operators (H, D) , which guarantees the existence of certain types of L -valued relations inducing the same L -valued fuzzy rough approximation operators.

Firstly, we use the residuated implication of $*$ to construct the set-theoretic mappings $H, D : \mathcal{PA} \rightarrow \mathcal{PA}$ to characterize the L -valued fuzzy rough approximation operators.

For a mapping $G : \mathcal{PA} \rightarrow \mathcal{PA}$, we always consider the following two pairs of conditions: $\forall B, B_i \in \mathcal{PA}, i \in I$,

(H1) $G(\widehat{\alpha} * (\widehat{\beta} \rightarrow B)) = \widehat{\alpha} * (\widehat{\beta} \rightarrow G(B))$ for all $\alpha, \beta \in L$ with $\alpha \leq \beta$ and $\bigvee_{x \in X} B(x) \leq \beta$,

$$\begin{aligned}
\text{(H2)} \quad & G(\bigvee_{i \in I} B_i) = \bigvee_{i \in I} G(B_i); \\
\text{(D1)} \quad & G(A \wedge (\widehat{\alpha} \rightarrow B)) = A \wedge (\widehat{\alpha} \rightarrow G(B)), \\
\text{(D2)} \quad & G(\bigwedge_{i \in I} B_i) = \bigwedge_{i \in I} G(B_i).
\end{aligned}$$

Theorem 4.1. *Let $H : \mathcal{PA} \rightarrow \mathcal{PA}$ be a mapping. Then, there exists an L -valued relation P on A such that $H = \overline{P}_{HA}$ iff the mapping H satisfies (H1) and (H2).*

Proof. The necessity is obvious, we here only prove the sufficiency. Let H satisfy (H1) and (H2). By H we can define a mapping $P_H : A \rightarrow A$ as follows:

$$P_H(y, x) = H(A_y)(x) \quad (\forall x, y \in A_0).$$

Now we prove P_H is an L -valued relation.

- (1) By $H(A_y) \leq A$, we have $P(y, x) \leq A(x)$.
- (2) According to (H1) and $A_y = A(y) * (A(y) \rightarrow A_y)$, we have

$$H(A(y) * (A(y) \rightarrow A_y)) = A(y) * (A(y) \rightarrow H(A_y)),$$

and

$$H(A_y) = H(\widehat{A(y)} \wedge A_y) = \widehat{A(y)} \wedge H(A_y) \leq \widehat{A(y)}.$$

Then $P(y, x) = H(A_y)(x) \leq \widehat{A(y)}(x) = A(y)$. Therefore, $P(y, x) \leq A(x) \wedge A(y)$.

For all $B \in \mathcal{PA}$ and $x \in A_0$, we have

$$\begin{aligned}
& \overline{P}_{HA}(B)(x) \\
&= \bigvee_{y \in A_0} B(y) * (A(y) \rightarrow P_H(y, x)) \\
&= \bigvee_{y \in A_0} B(y) * (A(y) \rightarrow H(A_y)(x)) \\
&= \bigvee_{y \in A_0} H(B(y) * (A(y) \rightarrow A_y))(x) \\
&= H(\bigvee_{y \in A_0} B(y) * (A(y) \rightarrow A_y))(x) \\
&= H(B)(x).
\end{aligned}$$

Hence, $\overline{P}_{HA} = H$. □

Dually, we have

Theorem 4.2. *Let $D : \mathcal{PA} \rightarrow \mathcal{PA}$ be a mapping. Then, there exists an L -valued relation P on A such that $D = \underline{P}_{DA}$ iff the mapping D satisfies (D1) and (D2).*

Proof. The necessity is obvious, we here only proof the sufficiency. Let D satisfy (D1) and (D2). By the mapping D we can define an L -valued relation $P_D : A \rightarrow A$ as follows:

$$\begin{aligned}
& P_D(y, x) \\
&= [A(x) \rightarrow D(A-y_0)(x)] \rightarrow 0 \\
&= A(x) \wedge [(A(x) \rightarrow D(A-y_0)(x)) \rightarrow 0] \quad (\forall x, y \in A_0).
\end{aligned}$$

Then for all $B \in \mathcal{PA}$ and $x \in A_0$, we have

$$\begin{aligned}
& \underline{P}_{D_A}(B)(x) \\
&= \underline{A}(x) \wedge \bigwedge_{z \in A_0} [(A(x) \rightarrow P_D(z, x)) \rightarrow B(z)] \\
&= A(x) \wedge \bigwedge_{z \in A_0} \{(A(x) \rightarrow ([A(x) \rightarrow D(A-z_0)(x)] \rightarrow 0)) \rightarrow B(z)\} \\
&= A(x) \wedge \bigwedge_{z \in A_0} [(D(A-z_0)(x) \rightarrow 0) \rightarrow B(z)] \\
&= A(x) \wedge \bigwedge_{z \in A_0} [(B(z) \rightarrow 0) \rightarrow D(A-z_0)(x)] \\
&= \bigwedge_{z \in A_0} D(A \wedge ((B(z) \rightarrow 0) \rightarrow (A-z_0)))(x) \\
&= D(\bigwedge_{z \in A_0} (A \wedge [(B(z) \rightarrow 0) \rightarrow (A-z_0)]))(x) \\
&= D(B)(x).
\end{aligned}$$

Hence, $\underline{P}_{D_A} = D$. \square

Theorem 4.1 (resp., 4.2) shows that a one-to-one correspondence can be constructed between the set-theoretic mappings H (resp., D) and L -valued upper fuzzy rough approximation operators (resp., L -valued lower fuzzy rough approximation operators).

In the following, we assume that L satisfies $(a \rightarrow 0) \rightarrow 0 = a$ for all $a \in L$, this is to say L is an MV-algebra. We will prove the L -valued upper fuzzy rough approximation operator \overline{P}_{H_A} and the L -valued lower fuzzy rough approximation operator \underline{P}_{D_A} are constructed by a same L -valued relation when (H, D) is a pair of dual operators with respect to an order-reversing involution \sim , i.e.,

$$\sim H(\sim B) = D(B); \quad \sim D(\sim B) = H(B).$$

In this case, we say that H is dual to D .

Theorem 4.3. *Let H be dual to D . Then $P_H = P_D$, where*

$$\begin{aligned}
& P_H(y, x) = H(A_y)(x); \\
& P_D(y, x) = [A(x) \rightarrow D(A-y_0)(x)] \rightarrow 0 \quad (\forall x, y \in A_0).
\end{aligned}$$

Proof. For any $x, y \in A_0$, we have

$$\begin{aligned}
& P_D(y, x) \\
&= A(x) * (\sim H(\sim(A-y_0))(x) \rightarrow 0) \\
&= A(x) * [A(x) * (H(\sim(A-y_0))(x) \rightarrow 0) \rightarrow 0] \\
&= H(\sim(A-y_0))(x)
\end{aligned}$$

and

$$\begin{aligned}
& \sim(A-y_0)(z) \\
&= A(x) * ((A-y_0)(z) \rightarrow 0) \\
&= \begin{cases} A(z) * (A(z) \rightarrow 0), & z \neq y, \\ A(y), & z = y \end{cases} \\
&= A_y.
\end{aligned}$$

Then $H(\sim(A-y_0))(x) = H(A_y)(x)$. Hence, $P_H = P_D$. \square

Theorem 4.3 is very important which indicates that L -valued upper fuzzy rough approximation operator \overline{P}_{HA} and L -valued lower fuzzy rough approximation operator \underline{P}_{DA} can be constructed by a same L -valued relation.

In what follows, we discuss the relations between special L -valued relations and mappings H, D .

Theorem 4.4. *Let $H : \mathcal{PA} \rightarrow \mathcal{PA}$ be a mapping satisfying (H1) and (H2). Then there exists an L -valued relation $P_H : A \rightarrow A$ which is reflexive (resp., symmetric, transitive) such that $H = \overline{P}_{HA}$ iff H satisfies (HR) (resp., (HS), (HT)):*

- (HR) $B \leq H(B)$ ($\forall B \in \mathcal{PA}$);
- (HS) $H(A_y)(x) = H(A_x)(y)$ ($\forall x, y \in A_0$);
- (HT) $H(H(B)) \leq H(B)$ ($\forall B \in \mathcal{PA}$).

Proof. The necessity and the sufficiency follow immediately from Theorems 3.8, 3.9, 3.11 and 4.1. \square

Corollary 4.5. *Let $H : \mathcal{PA} \rightarrow \mathcal{PA}$ be a mapping satisfying (H1) and (H2). Then there exists an L -valued equivalence relation $P_H : A \rightarrow A$ such that $H = \overline{P}_{HA}$ iff H satisfies (HR), (HS) and (HT).*

Theorem 4.6. *Let $D : \mathcal{PA} \rightarrow \mathcal{PA}$ be a mapping satisfying (D1) and (D2). Then there exists an L -valued relation $P_D : A \rightarrow A$ which is reflexive (resp., symmetric, transitive) such that $D = \underline{P}_{DA}$ iff D satisfies (DR) (resp., (DS), (DT)):*

- (DR) $D(B) \leq B$ ($\forall B \in \mathcal{PA}$);
- (DS) $[A(x) \rightarrow D(A-y_0)(x)] \rightarrow 0 = [A(y) \rightarrow D(A-x_0)(y)] \rightarrow 0$ ($\forall x, y \in A_0$);
- (DT) $D(B) \leq DD(B)$ ($\forall B \in \mathcal{PA}$).

Proof. The necessity and the sufficiency follow immediately from Theorems 3.8, 3.9, 3.11 and 4.2. \square

Corollary 4.7. *Let $D : \mathcal{PA} \rightarrow \mathcal{PA}$ be a mapping satisfying (D1) and (D2). Then there exists an L -valued equivalence relation $P_D : A \rightarrow A$ such that $D = \underline{P}_{DA}$ iff D satisfies (DR), (DS) and (DT).*

Using the composition of H and D , we can get a pair of mapping $HH, DD : \mathcal{PA} \rightarrow \mathcal{PA}$. This pair is not equivalent to that of (H, D) . This means that iterated using of the approximation operators is not reducible. In fact, by the duality of D and H , they can define two pairs of dual operators.

The operators HH and DD are dual to w.r.t. \sim , namely, $DD = \sim HH(\sim)$. By the properties of H and D , it follows that HH and DD satisfy (H1), (H2), (D1) and (D2):

- (H1) $HH(\widehat{\alpha} * (\widehat{\beta} \rightarrow B)) = \widehat{\alpha} * (\widehat{\beta} \rightarrow HH(B))$,
- (H2) $HH(\bigvee_{i \in I} B_i) = \bigvee_{i \in I} HH(B_i)$;
- (D1) $DD(A \wedge (\widehat{\alpha} \rightarrow B)) = A \wedge (\widehat{\alpha} \rightarrow DD(B))$,
- (D2) $DD(\bigwedge_{i \in I} B_i) = \bigwedge_{i \in I} DD(B_i)$.

Therefore, we can use $(\overline{HH}, \overline{DD})$ to construct a pair of L -valued fuzzy rough approximation operators $(\overline{P_{HHA}}, \overline{P_{DDA}})$. By using the same manner, we may obtain many pairs of L -valued fuzzy approximation operators. Once an operator is obtained by iterated using of H , the other operator can be obtained by iterated using of D with the same length, for example the pair set-theoretic mappings $(HHHH, DDDD)$.

5. Conclusion

In this paper, we study L -valued fuzzy rough sets based on GL-quantale. By using L -valued relations, we construct L -valued fuzzy rough set in both constructive and axiomatic approaches. The classical L -fuzzy rough set is a special case of L -valued fuzzy rough set. The results presented in this paper can hopefully provide more insight into and a full understanding of fuzzy rough set theory. It may be more useful for potential applications of rough set theory in the fuzzy environment and help us to gain a general mathematical structures of the fuzzy approximation operators. The analysis will facilitate further research in uncertain reasoning under fuzziness.

Acknowledgements. This work was supported by the Fundamental Research Funds for the Central Universities (no, 2017JC09), NSF of Shandong Province (ZR2017MA017) and the NSFC of China (11471297,11401547,11501032)

REFERENCES

- [1] M. Banerjee and S. K. Pal, *Roughness of fuzzy set*, Information Sciences, **93** (1996), 235–246.
- [2] J. G. Bazan, *A comparison of Dynamic and Non-dynamic Rough Set Methods for Extracting Laws From Decision Table*, Heidelberg: Physica-Verlag (1998), 321–365.
- [3] X. Chen and Q. Li, *Construction of rough approximations in fuzzy setting*, Fuzzy Sets and Systems, **158** (2007), 2641–2653.
- [4] D. Dubois and H. Prade, *Rough fuzzy sets and fuzzy rough sets*, International Journal of General Systems, **17** (1990), 191–208.
- [5] D. Dubois and H. Prade, *Putting Fuzzy Sets and Rough Sets Together*, International Decision Support: Handbook of Applications and Advances of Rough Sets Theory, Kluwer, 1992.
- [6] A. Ekins, A. Šostak and I. Ujane, *On a Category of Extensional Fuzzy Rough Approximation Operators*, In: International Conference on Information Processing and Management of Uncertainty in Knowledge-Based Systems, (2016), 48–60.
- [7] J. A. Goguen, *L-fuzzy sets*, Journal of Mathematical Analysis and Applications, **18** (1967), 145–174.
- [8] S. E. Han, I. S. Kim and A. Šostak, *On approximate-type systems generated by L-relations*, Information Sciences, **281** (2014), 8–20.
- [9] U. Höhle, *M-valued Sets and Sheaves Over Integral Commutative GL-monoids*, in: S.E. Rodabaugh, E.P. Klement, U. Höhle (Eds.), Applications of Category Theory to Fuzzy Subsets, Kluwer Academic Publishers, Dordrecht, Boston, London, 1992.
- [10] U. Höhle, *Many-valued Topology and Its Applications*, Kluwer Academic Publishers, Dordrecht, Boston, London, 2001.
- [11] U. Höhle, *Many-valued Equalities and Their Representations*, in: E.P. Klement, R. Mesiar (Eds.), Logic, Algebraic, Analytic, and Probabilistic Aspects of Triangular Norms, Amsterdam, Boston, Heidelberg, 2005.
- [12] U. Höhle and T. Kubiak, *A non-commutative and non-idempotent theory of quantale sets*, Fuzzy Sets and Systems, **166** (2011), 1–43.

- [13] J. Kortelainen, *On relationship between modified sets, topological spaces and rough sets*, Fuzzy Sets and Systems **61** (1994), 91–95.
- [14] M. Liu, D. G. Chen, C. Wu and H. X. Li, *Fuzzy reasoning based on a new fuzzy rough set and its application to scheduling problems*, Computers and Mathematics with Applications, **51** (2006), 1507–1518.
- [15] F. Li and Y. Q. Yin, *Approaches to knowledge reduction of covering decision systems based on information theory*, Information sciences, **179** (2009), 1694–1704.
- [16] Z. W. Li and R. C. Cui, *Similarity of fuzzy relations based on fuzzy topologies induced by fuzzy rough approximation operators*, Information sciences, **305** (2015), 219–233.
- [17] Z. W. Li, T. S. Xie and Q. G. Li, *Topological structures of generalized rough sets*, Computers and Mathematics with Applications, **63** (2012), 1066–1071.
- [18] Z. M. Ma and B. Q. Hu, *Topological and lattice structures of L-fuzzy rough sets determined by lower and upper sets*, Information Sciences, **218** (2013), 194–204.
- [19] J. S. Mi and W. X. Zhang, *An axiomatic characterization of a fuzzy generalization of rough sets*, Information Sciences, **160** (2004), 235–249.
- [20] N. N. Morsi and M. M. Yakout, *Axiomatics for fuzzy rough sets*, Fuzzy sets and systems, **100** (1998), 327–342.
- [21] S. G. Matthews, *Partial metric topology*, Annals of the New York Academy of Sciences, **728** (1994), 183–197.
- [22] A. Nakamura, *Fuzzy rough sets*, Note on Multiple-valued Logic in Japan, **9** (1988), 1–8.
- [23] Z. Pawlak, *Rough sets*, International Journal of Computer and Information Sciences, **11** (1982), 341–356.
- [24] Z. Pawlak, *Rough Sets: Theoretical Aspects of Reasoning about Data*, Kluwer Academic Publishers, Dordrecht, Boston, London, 1991.
- [25] Q. Pu and D. X. Zhang, *Preordered sets valued in a GL-monoid*, Fuzzy Sets and Systems, **187** (2012), 1–32.
- [26] A. M. Radzikowska and E. E. Kerre, *A comparative study of fuzzy rough sets*, Fuzzy sets and systems, **126** (2002), 137–155.
- [27] A. M. Radzikowska and E. E. Kerre, *Fuzzy rough sets based on residuated lattice*, Transactions on Rough Sets II, LNCS, **3135** (2004), 278–296.
- [28] A. Šostak, *Towards the theory of M-approximate systems: fundamentals and examples*, Fuzzy Sets and Systems, **161** (2010), 2440–2461.
- [29] Y. H. She and G. J. Wang, *An axiomatic approach of fuzzy rough sets based on residuated lattices*, Computers and Mathematics with Applications, **58** (2009), 189–201.
- [30] H. Thiele, *On Axiomatic Characterization of Fuzzy Approximation Operators I, the Rough Fuzzy Set Based Case*, in: Proceedings of the 31st IEEE International Symposium on Multiple-Valued Logic, (2001), 330–335.
- [31] C. Y. Wang and B. Q. Hu, *Fuzzy rough sets based on generalized residuated lattices*, Information Sciences, **248** (2013), 31–49.
- [32] W. Z. Wu, Y. Leung and J. S. Mi, *On characterizations of (I, T)-fuzzy rough approximation operators*, Fuzzy Sets and Systems, **154** (2005), 76–102.
- [33] W. Z. Wu, Y. H. Xu, M. W. Shao and G. Wang, *Axiomatic characterizations of (S, T)-fuzzy rough approximation operators*, Information Sciences, **334** (2016), 17–43.
- [34] Z. Wu, W. Du and K. Qin, *The Properties of L-fuzzy Rough Set Based on Complete Residuated Lattice*, in: International Symposium on Information Science and Engineering, (2008), 617–621.
- [35] Y. Y. Yao, *Generalization of rough sets using modal logic*, Intelligent Automation and Soft Computing, **2** (1996), 103–120.
- [36] Y. Y. Yao, *Combination of Rough and Fuzzy Sets Based on Alpha-level Sets*, in: T.Y. Lin, N. Cercone (Eds.), Rough Sets and Data Mining: Analysis for Imprecise Data, Kluwer Academic Publishers, Boston, 1997.
- [37] L. A. Zadeh, *Fuzzy sets*, Information and Control, **8**(1965), 338–358.

- [38] L. Zhou and W. Z. Wu, *On generalized intuitionistic fuzzy rough approximation operators*, Information Sciences, **178** (2008), 2448–2465.

FEI LI*, DEPARTMENT OF MATHEMATICS, BEIJING FORESTRY UNIVERSITY, 35 TSINGHUA EAST ROAD HAIDIAN DISTRICT, BEIJING 100083, P.R. CHINA
E-mail address: feifei.1004@bjfu.edu.cn

YUELI YUE, DEPARTMENT OF MATHEMATICS, OCEAN UNIVERSITY OF CHINA, 238 SONGLING ROAD, QINGDAO 266100, P.R. CHINA
E-mail address: ylyue@ouc.edu.cn

*CORRESPONDING AUTHOR